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(BfT : M)
EERIE ZEREESRE &5t AEPEREIEE EEXDET
BEEDER
REBNEEE 14, 650, 671 14, 650, 671 0 14, 650, 671
RefEsE 13, 723, 242 13,723, 242 13, 723, 242
BifisEss 100, 000 100, 000 100, 000
EERINE 675, 410 675, 410 675,410
RUNE 0 0
RUINEBNE 0 0
uEBE 0 0
BIAEE R 152,019 152,019 152,019
ZOMDRENEEE 0 0]
BEEEE 37,628,176 37,628,176 0 37,628,176
ERBAEE 2, 755, 995 2,755, 995 0 2,755, 995
+ith 0 0]
k=17 2,755, 995 2,755, 995 2,755, 995
EHFES 0 0
B 0 0]
ZOMOEEEEE 34,872,181 34,872,181 0 34,872, 181
Tith 0 0
2y 838, 781 838, 781 838, 781
TBEEY 1 1 1
N VB 353, 530 353, 530 353, 530
EHimERE 0 0
FBE N MEmm 3,153, 355 3, 153, 355 3,153, 355
VIRNITY7 483,014 483,014 483,014
EANRIIE 43, 500 43, 500 43, 500
IREPNIERS SRR mfa L &= 30, 000, 000 30, 000, 000 30, 000, 000
AGEERBTEE 0 0
EEOIEET 52,218, 8417 52,278, 847 0 52,278, 847
BE0ED
TENBE 4,928,532 4,928,532 0 4,928,532
E=E SN 1, 353, 749 1, 353, 749 1, 353, 749
ZOMOFRIAE 0 0
JEnE 0 0
EEDE 986, 383 986, 383 986, 383
E55|4% 2,588, 400 2,588, 400 2,588, 400
Eha=lE 0 0
=IEOR = 4,928, 532 4 928,532 0 4, 928,532
HEEEDES
HEAE 10, 890, 027 10, 890, 027 0 10, 890, 027
FISERE 9, 890, 027 9,890, 027 9, 890, 027
EISEKRE 1, 000, 000 1, 000, 000 1, 000, 000
EE#EEEFIEILE 444,906 444,906 0 444, 906
EEHEHISRIBETIE 444,906 444,906 444,906
ZOMOIEILE 30, 000, 000 30, 000, 000 0 30, 000, 000
REFhIEES - Blpiar e 30, 000, 000 30, 000, 000 30, 000, 000
ANFEELE 0 0
IRERYE R NS = 5E 6,015, 382 6,015, 382 6,015, 382
(55 M EREENEFE%E) -7, 800, 777 -7,800, 777 -7, 800, 777
HEEDEPEET 47, 350, 315 47, 350, 315 0 47, 350, 315
BEARMIEEDEMSET 52,2178, 847 52,278, 847 0 52,218, 847
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